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1. Data Structures


2. Data Structures 
 Define a new command SW as follows;

           If it is a queue, change to a stack and if it is a stack, change to
           a queue.






4.  Digital Electronics
     How many ordered
     quadruples make the 

     following circuit
     TRUE?
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1.





   What is the internal path length of the binary search tree for:


LIVEFREEORDIE





2.





Start with an initially empty queue.  Perform the following.  What is the next element POP’ed?  PUSH(D), PUSH(A), POP(X), SW,  PUSH(R), PUSH(T), PUSH (M), POP(X),  POP(X), SW, POP(X), PUSH(O), PUSH(U),  POP(X),  SW, POP(X), PUSH(T), SW,  PUSH(H)
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3.





  3.  Digital Electronics                           


       Simplify the Boolean


       expression  produced 


       by the digital circuit. 
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5.





LISP


Simplify the following LISP expression:





(CDR(CAR(CDR(REVERSE(CAR(CDR


 ‘( 1 ( 2 (( 3 4 ) 2 ) 3) 2 ( 4 ( 1 2 )))))))))
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